Q:\pcab_y\Atlas\AtBOC\BOC_Series\BOC_RevC\Drawings\BOM_rev_c.xIs

Item Description Supply Details From Concept | FIT/ Need
Source #1 Source #2 07Apr0o4
i+ Manuf/ Manuf/ # | Qty
5 Supplier Part Supplier Part 5 Per
[ Ref Des Purchase details / Description Value 1 Number 2 Number Qty NoTFI| | | Boc
1 BOC Rev C pcb 1 1 T
2 |us2,u34 Latt ISPLST2032VE-225LT44 3V3 4NS CPLD ';‘_‘;'/ . |splsreosave-2251T44 Lot ispLST2032VE-180LT44 | 2 2 2
iConcep
3 |U106,U119,U134,U145 Latt ISPLST2128VE-250LT100 3V3 4NS CPLT Latt ispLST2128VE-250LT100 7 3 7
7 |uar Latt TSPLST5384VE-100LB272 3V3 10NS CPLU Latt TSPLST 5384VE-100LB272 1 7 1
o
5 |ugs,uss,use PI9OLVTI4L ECL 1:5 CLOCK BUFF ericom PIOOLVT14L 3 5 3
|siconcept
6 |uizurs SY100EP14UK4T ECL DIF. CLOCK BUF. Micro/Syr | 100EP14ukai ONSemi/ | | 100EP14DT 2 6 2
Focus |EBV
7 |u2s SY100EP16VZC ECL DIF. BUF. Micro/Syr | 100EL16vzc ONSemi/| | 100EP16D 1 7 1
Focus EBV
8 |u1,U22,U25Us6 SY100EPT21LZI PECL - TTL XLAT Micro/Syr | 100BPT21LZC (or LZD) |0 |mctooepT21D 4 8 4
Focus |EBV
Micro/Syr -
9 |u7,U3s,Us5,U87 SY100EPT22VZT 3V/5V DUAL LVTTL-LVP XLAT e sy100EPT22vzi 4 9 4
ocu:
10 |ur7 SY100EP32VZT ECL CLK DIVBY2 Micra/Syr | 100EP32vzi ONSemi/ 1 100EP32D 1 10 1
Focus |EBV
Micro/Syr
11 |ues,u7s SYI100EL34LZC 3V ECL /2 /4 /8 CLOCK DIV. CHIP e SYI00EL34LZC 2 u 2
ocu:
12 |U62,U78,U8L MC100EP57DT ECL DIF. BUF. Micra/Syr | 100eps7vkai ONSemi/ | - 100EP57DT 3 12 3
Focus |EBV
13 |uiss SY100EL92ZC TRIPLE PECL-LVP XLAT r‘"z/ ST |syt00eL922¢ gg’vse'"'/ mc100LVEL92dw 1 13 1
ocu:
14 |ur2 SY100EP195VTT ECL PROG DELAY CHIP Micro/Syr 1. 100EP195vHi ONSemi/ | | 100EP195F A 1 14 1
Focus |EBV
15 |ussuso SYB5855VKI PECL - LVDS XLAT r'"z/sy' SY55855VKT 2 15 2
ocu:
16 |uss SY89421VZC PLL & OSC r‘m/s”' SY89421vZC 1 16 1
ocus
Pericom } ONSemi/
17 |uis NSC DS90LVOI7ATM SINGLE LVDS TX y piSOLVOI7AW ds90LVOI7ATM 1 7 1
|siconcept EBv
18 |U8,U38,U48,U49,U74,U75,U86,U90,U96,U107,U108,U114,U115,U125,U126,U135,U136,U140,U141,U151 NSC DS90LVO18ATM SINGLE LVDS RX ZZIEVCDIT\ + Ppi90OLVO18AW l;;'vszmll ds90LVO18ATM 20 18 20
iConcep
19 ;J:glt)fszéUSQ‘U54‘U60‘UGl,UG7,UGB,U84,U85,U93,U94,UlOO,UlOl‘U112,U113,U120‘U121,U127.UlZS,U143,U144.U148,L NSC DS90LVO4BATM QUAD LVDS RX NatSemi DS90LVO48ATM 25 19 25
20 EBJtﬂiggﬂ;‘l:;‘U50‘U51‘U58,U59,UGQ,U70,U79,UHOUBB.U91.U92.UlOZ,U103,U109.UllO,U117‘UllB,UlZQ,U13U‘U137,U13 PHOS4 - ATLAS 4 CHAN. DELAY 26 20 26
21 |us7 IS61LV256-157 3V3 32KXBBIT SRAM ;CSIS/ 1S61LV256-157 1 2 1
ocu:
2 |us MC74HCO5AD HEX OC INVERTER Mot / alt MC74HCO5AD or Equiv T 2 1
23_|U1,U2,U5,U6,09,U14,017,019 MC74HCT245ADW OCTAL RX-TX Mot MC74HCT245ADW 8 23 8
24 |U15,U16,U18,U31,U39,U46 SN74LVT245BDW OCTAL RX-TX TL SN74LVT245ADW 6 24 6
25_|U23,027,0105,U116,U122,U132,U142,U150 SN74ALVTH162244566 16 BIT WIDE RX-Tx T SN74ALVTH162244D66 8 25 8
26_|U152-U155 NC7502M5 SINGLE 2 IP "NOR" GATE F-Child NC7502M5 2 26 2
27_|U,U20,U21,U33,U37,U63 NC75Z08M5 SINGLE 2 IP "AND" GATE F-Child NC75Z08M5 6 27 6
28 |U30,U45,U71,U104,U131 Linear LT3010MSBE 50MA LDO REG LinTechy __|LT3010EMS8E 5 28 5
29|36 MAXI239EEE 12 CHAN. ADC-T2C BUS 3V3 MaximDirect _|MAX1239EEE 1 29 1
30 |U40,U52,U64,U82,U97,U111,U124,U139 MAX4373TEUA CURRENT SENSE AMP MaximDirect |MAX4373TEUA 8 30 8
31_|uze MAX6714CUB VCC + 3 RATL MONITOR MaximDirect _|MAX6714CUB 1 31 1
32 | C-MAC CFPS-73-40MHZ Min Xtal Os« 40 MHZ |C-MAC SPXO 018042 1 2 1
33_|pi0a RS1A DIODE SMA; 1A; 50V RSIA 2 33 2




Q:\pcab_y\Atlas\AtBOC\BOC_Series\BOC_RevC\Drawings\BOM_rev_c.xIs

Item Description Supply Details From Concept | FIT/ Need
Source #1 Source #2 07Apr04
# Manuf/ Manuf/ # Qty
5 Supplier Part Supplier Part 5 Per
[ Ref Des Purchase details / Description Value 1 Number 2 Number Qty NoTFI| | | Boc
34_|c24,c231-C238 22PF SMD 0805 CAP - 22p 9 9 34 -
35 |3 47PF SMD 0805 CAP - 08055C470KATOO. 47p 1 35 T
36_|C12,015,019,028,C31 T0NF 50V SMD 0805 CAP - 08055CI03KATO0: 10N 5 36 5
37_|C6,C7,C11,C14,C18,C21,C23,C25,C27,C30,C33-C59,C61-C64,C66-CB7,C89-CO3,C95-C227 T00NF SMD 0805 CAP - CM21X7RI04K25VAT 100N 201 T 37 | 200
38_|ci7 TUF SMD 1206 CAP - CM316X7RI0BKI6VAT 100 1 38 1
30 |C13,C16,C22,C29,C32 4.7UF 20V CAP- TPSA475K020R LO ESR CASE / 207 5 39 5
40_|c1.c2.cace 10UF 25V CAP - TAJCIO6KO025R CASE ¢ 10U 7 20 7
41_|ces,cod 10UF 10V CAP - TAJTI06KOIOR LO PROF CASE 1 10U 2 an 2
42_|C5,C8,C10,C20C26 100UF 16V CAP -TPSDI107KOI6RO125 CASE T 100U 5 2 2 3
43 |LKLLK2,LK7,LK10,LK11,LK14-LK17,LK22,LK23 0RO SMD 0603 RES 0RO 1 B | 1
44_|R62,R80,R247,RTL-RTI6 100R SMD_0603 RES 100R 99 2 | 99
45_|R106,R115,R130,R175,R191,R205,R21L,R23L 6R8 SMD 0805 RES 6R8 8 5 8
R21,R32,R36,R39,R40,R70,R75,R102,R113 R120,R127,R128,R 134, R146 R147,R161,R164,R167,R169,R 174 R177 R182 A
46 |186,r187,R189,R190,R194.R203,R206,R207,R209,R212,R214,R217,R229,R230,R232,R236 100R SMD 0805 RES 100R 38 s il
R14,R15,R116,R124,R125 R129,R131,R133,R135-R137,R140,R142-
47 _|R145,R148,R149,R152,R153,R157,R158,R160,R162,R163,R168,R170-R173,R176,R215,R216 R218,R219 110R SMD 0805 RES HOR 35 al®
R3,R4,R16,R23,R28,R29,R31,R33,R35,R38,RAL,RA4-
48 |R46,R66,R67,R81,RB2,R96,R97,R118,R122,R123,R150,R166,R178,R179,R183,R185 R210,R213 220R SMD 0805 RES 220R st B
49_|R5,R8,R132,R180,R184,R188,R238 560R SMD 0805 RES 560R 7 3 9 7
R1,R34,R37,R42,R43,R76-R78,R108-
50 |R111,R150,R151,R154,R155,R195,R196,R198 R199,R220,R221,R225 R226 R233,R234,R244,R 245 157, R88. % 1KO SMD 0805 RES ko st 2 i
51 _|R114,R141,R165,R204,R228 5K SMD 0805 RES K5 5 51 5
52_|R6,R7,R10,R30,R47-R50,R54,R55,R58-R61,R63-R65,R69,R71-R73,R93,R98,R103,R138,R139,R 161 4.7K SMD 0805 RES a7 27 52 | o7
3 2ig?;;ti,iiggéios,zlgﬁzzgsé,Eﬁg;ig?;ﬁzﬁiiz;ﬁ%gz?gsglw,R222,R224,R227,R235,R237,R239-R241,R24§0K SMD 0805 RES 1ok “ s 4w
54_|R25,R27,R90,R94,R200,R202,R208,R223,R246 16K SMD 0805 RES 16K 9 54 9
56_|R24,R26,R85,R87,RE9,RL,R201,R242 56K SMD 0805 RES 56K 8 56 8
57 _|R83 68K SMD 0805 RES 68K 1 57 1
58 |Ro8000 0RO SMD 1206 RES 0RO 2 T 58 1
50 [THL-THG 10K THERMISTOR 10K [Semitec 103KT1608T-1P 6 59 6
60 |RX1-RX8,TX1-TX4 BOCI TYPE2 RX/TX MODULE CONN. f_‘;‘;“ /" |QsE020-01LbA 12 60 | 12
61 (M1 DC-DC Conv (not used; 1 1 61 -
1205211
62 [SLINK S_LINK PLUG IN CONN. AMP | molex 52763-0649 1 62 1
also CERN 09.55.41.064.%
63 _[SWisw3 ROTARY HEX COMP._SWIT, 3 3 3
64_|LASEN LED flat-top Kingbright Red RED 1 64 1
65 |EXTINT LED flat-top Kingbright Yellow VELL 2 65 2
66_|3V-OK5V-0K LED flat-top Kingbright Greer GRN 2 66 2
67 |12V SMD030 SURFACE MOUNT FUSE 300MA 1 67 1
68 |av3 RGE1100 RESETTABLE FUSE 114 1 68 1
69 |sv RGE300 RESETTABLE FUSE 3A 1 69 1
73_|RP2RP3 160 WAY RIGHT ANGLE SOCKET Harting 0204.160.1101 2 73 2
74_|SKLSK2 2MM 2x4 WAY SOCKET Harting M22-6120422 2 74 2
75_|sKa 8 WAY MICRO-MATCH PCB SOCKET 7-215079-8 1 75 T
76 |LK3-LK6,.LK8 2 PIN 0.6 INCH PLTCH JUMPER 5 5 76 -
77_[TP1TP3L TEST POINT 10ZMM BLK 31 3L | 77 -
78_[9196 HIROSE 50 WAY DF12_SMD CONN. (Pixel Option. 6 6 78 -
79_|R248-R251 K0 SMD 0603 RES K0 2 79 7
80_|R79,R86,R252-R257 100K SMD 0805 RES 100K 8 80 8
[ToTAL 836 6 | 76 | 72




Q:\pcab_y\Atlas\ABOC\BOC_Series\BOC_RevC\Drawings\BOM_rev_c.xls

Item Description

Supply Details

ITEM #

Source #1

Source #2

From Concept
07Apro4

Ref Des

Purchase details / Description

Value

Manuf/
Supplier
1

Manuf/
Part Supplier
Number 2

Part
Number

Qty

OT FI]

FIT/ Need

Qty
Per
BOC

ITEM #

Mechanical Parts

Item Description

BOT HANDLE ASSY RITTAL 3688770-X1C

FRONT PANEL RITTAL 3685.54C

TOP HANDLE ASSY RITTAL 3688771-X1C

Panel and Handle Assembly (machined & Printed) |

SMC_MOUNT BASE

SMC_MOUNT LID

SMC_MOUNT LID "SCREW M2x5"

SMC_MOUNT TO PANEL "SCREW M2x5"

SMC_MOUNT TO PCB "SCREW M2x5"

S-LINK KEYING PIN SCHROFF 60827-02¢

S-LINK STANDOFF SCHROFF 60897-27¢

S-LINK TO PCB SCREW "SCREW M2.5x5"

VME CONN. "NUT M2.5"

VME CONN. "SCREW M2.5x10 / 12'

Components Not Used in RevC

70

QUICK BLOW SM FUSE

*10A

10 SPARES = 508-731 **FUSE ONLY**

71

QUICK BLOW SM FUSE + HOLDER

3A

10 SPARES = 508-718 [

72|

DC-DC CONVERTER

RS 191-4837 TEM 3-1211 12V-5V

55|

33K SMD 0805 RES

33K

FEC 912-037

1) For each opto RX removed (iteme0): also remove 3 x item 19 & 3 x item20 & 12 x item44.

Notes for Pixels

2) Remove data-buffers (item 25) and replace with smd connectors (item78) according to your needs.




